T 2 IO ~,
L 2 M= Ayt L 036070
y/ Qﬁ_o_wl S e $1n {O
/

“BD =019 vy

G.)ST

1

9y
)

— @ Syoble o9 ulmd 3o & =0
?Ck»r\(‘ﬁq,\ Dneny = '-—-Mﬂc"d ——
= - (o, gzxo 5 corn)
4. x W T
P

(\o) Oy able eSuiibeiivm  re, O = | $0
'YC’M/V\A”TGJ QM&?}? = = MR Cor &

‘ = = (0.72 5 0. (5 caplee)
: = —Y.€ 1O T
":559 ne 506 1= 3.0A A =25 x]

s
3
1
\)
X

- 5§00

s M= 1 -T"’ B=0.227
@@\ B q-ﬁ”"\ B 55 Zuosmel
e Lyt hal 0\»\3(2 S5 Q=0
@ G, = A0
W) = ~MR (Locﬁ — Cof @3 RN
el 5 s (9299 (C‘J 6" Cor 5 )
= aj—OQ?T




NS A
W e

'-

T Bl 6=

S0

..-y:_f_\’”? (ng ("/ -~ CuJ (r’ ') — rff\j -

.S % 0.22. [ L po- o) IR

-2 06T -

01 o T " kA e e

Y= ™MB gm@ e

e L 5x0.22xs,90

~6om2 T

© 9= \p0° “ I

&=

‘\435?\/\ \%f ' — —

o | —
—

T‘("///V
A-loxl0 s =44

5§§> n= 2000
7

}

o) ™M = w DA _

— 9000 x 4 x 1.6 x ol

N

iZf A -

L4 xFFE=lo™ _

Y] B=

5x )0 T 9=90"

= 1.28 x 1.5x 107 % 5in R0




! {u g’\j‘»;"vt ‘) :7(‘,‘ ‘L } X»I yLE.1
| S A
[ | /l
' 3
3L P
: 2 b ol T ,
- - - C} ')’:{,{ ;/ 5 _‘j" ]C/
I | ’[7\7 X %)__
- N = 1 1(1 X lc} ’ ;7‘11"&





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

